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1 Given: £2 is comp. to £3.
/4 = 131°
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Find the measure of each of the following angles. —
a 23 ¢ £5 /M4’ e £1/1239° ) g L7 &93
b L6/lg! / d 22/ L“' f 28 L,“’/

4 One of two supplementary angles is four times the other. Find
the larger angle.
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3 Given: £4 is comp. to £6.
45 is comp. to £6. 3 steps
Prove: /4 = /5 /
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5 One of two complementary anglesés )20° larger than the other
Find the measure of each. ’ .

FNOLE = Qo-y= X+0 P65
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7 Given: £FK] is a right £. K J
£HJK is a right 2.
£GK] = £GJK

Conclusion: 2FKG = £HJG
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16 Given: 41 is comp. to £4. 3
£2 is comp. to £3. 6 steps
RT bisects £SRV. .
e 3 )
Prove: TR bisects £STV. R\/T
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